
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique por potências de dez (número ausente)

5, 82 × ________ = 5820 10, 578 × ________ = 1057.8

6, 388 × ________ = 63.88 3, 189 × ________ = 3189

9, 157 × ________ = 915.7 10, 417 × ________ = 10417

8, 831 × ________ = 883.1 8, 274 × ________ = 82.74

3, 739 × ________ = 3739 2, 517 × ________ = 2517

1, 533 × ________ = 153.3 5, 721 × ________ = 5721

7, 832 × ________ = 783.2 5, 748 × ________ = 5748

1, 062 × ________ = 10.62 4, 805 × ________ = 480.5

5, 067 × ________ = 50.67 3, 498 × ________ = 3498

1, 641 × ________ = 16.41 3, 307 × ________ = 3307
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Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique por potências de dez (número ausente)

5, 82 × 1000 = 5820 10, 578 × 100 = 1057.8

6, 388 × 10 = 63.88 3, 189 × 1000 = 3189

9, 157 × 100 = 915.7 10, 417 × 1000 = 10417

8, 831 × 100 = 883.1 8, 274 × 10 = 82.74

3, 739 × 1000 = 3739 2, 517 × 1000 = 2517

1, 533 × 100 = 153.3 5, 721 × 1000 = 5721

7, 832 × 100 = 783.2 5, 748 × 1000 = 5748

1, 062 × 10 = 10.62 4, 805 × 100 = 480.5

5, 067 × 10 = 50.67 3, 498 × 1000 = 3498

1, 641 × 10 = 16.41 3, 307 × 1000 = 3307
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